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1101 [ X418 GH 30 300 0 300
1113|FEAS |[EE 205 2050 0 2050 10 0 0 0 1836 0 648
RiF 20 200 0 200 10 0 0 0 0 540 0
& 225 2250 0 2250
1201[83% % 21 315 0 315 15 0 0 0 1512 0 540
& 21 315 0 315
1203[F ¥Ry [EH 173 1730 0 1730 10 0 0 0 1296 0 1080
EE 100 1000 0 1000 10 0 0 0 0 756 0
EE 150 2250 0 2250 15 0 0 0 0 923 0
& 531 6060 0 6060
1204[Glh—J)L [EH 50 500 0 500 10 0 0 0 0 486 0
& 50 500 0 500
1205[[F>NAE [EE 465 186 186 0 0.4 238 0 119 0 0 0
) 465 186 186 0
1207[ & GbH 1060 171 146 25
1209| B & B 5 15 0 15 3 0 0 0 2052 0 1944
(&) 5 15 0 15
1301[#aF S 15 30 0 30 2 0 0 0 864 0 702
=40 400 120 0 120 0.3 0 0 0 108 0 92
=5 28 140 0 140 5 0 0 0 1836 0 1728
(&) 443 290 0 290
1311[FRE EE 30 120 0 120 4 0 0 0 1080 0 702
RE 3 18 18 0 6 1728 0 1512 0 0 0
S 60 240 0 240 4 0 0 0 0 972 0
(&) 93 378 18 360
1321 [HA R mE 40 200 0 200 5 0 0 0 2376 0 1944
BiE 40 200 0 200 5 0 0 0 2268 0 2052
) 80 400 0 400
1331 | MM FH» [&0) 30 300 0 300
13B51[E—<>  [XH 1050 158 0 158 0.15 0 0 0 0 70 0
(&) 1050 158 0 158
1353[ Tk =% 90 9 0 9 0.1 0 0 0 184 0 151
(&) 90 9 0 9
1511 | B8RE Eh 10 100 0 100
1541 [E& EE 200 2000 0 2000 10 0 0 0 1674 0 1458
Eh 200 2000 0 2000
1603[)L)— [RE 5 50 0 50 10 0 0 0 3024 0 2808
Eh 5 50 0 50
1609[7Ovaly  [FJI 38 228 0 228 6 0 0 0 3564 0 2376
Eh 38 228 0 228
1611[LBR E% 3 30 0 30 10 0 0 0 0 1404 0
Eh 3 30 0 30
1612| 4 =L 2R |EH 5 25 0 25 5 0 0 0 0 864 0
Eh 5 25 0 25
1627[2=k=F _ [&EJI 30 6 0 6 0.2 0 0 0 0 103 0
S 66 198 0 198 3 0 0 0 1188 0 972
(&) 220 236 0 236
1705| T A= =0 540 43 0 43 0.08 0 0 0 0 108 0
= H 6 24 0 24 4 0 0 0 0 5616 0
Gh 546 67 0 67
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1803 | EHEE =) 300 30 0 30 0.1 0 0 125 0
S 60 12 0 12 0.2 0 77 0 66
GD 810 87 0 87
1807|8E E& 150 15 0 15 0.1 0 0 49 0
% 450 90 0 90 0.2 0 0 59 0
& 600 105 0 105
1809|L &L EH 250 25 0 25 0.1 0 0 49 0
& 250 25 0 25
* SFEET * 11908 26541 554 25987
2714|8H3 R 10 50 0 50 5 0 0 3240 0
(&) 10 50 0 50
2811| % 33 20 5 0 5 0.25 0 0 454 0
(&) 20 5 0 5
* S EEET * 60 110 0 110




